

First Exam

(1) Answer Sheet

The University of Jordan

17
20

Mathematics Department

Math 202 / First Exam

Date: 29/10/2011

Name: _____

Student Number: _____

(1) Solve the differential equation: $\frac{dy}{dx} = \frac{2y + \sqrt{x^2 - y^2}}{2x}$

$$\frac{dy}{dx} = \frac{2y}{2x} + \frac{\sqrt{x^2 - y^2}}{2\sqrt{x^2}} \Rightarrow \frac{dy}{dx} = \frac{y}{x} + \frac{1}{2} \sqrt{\frac{x^2 - y^2}{x^2}}$$

$$\frac{dy}{dx} = \frac{y}{x} + \frac{1}{2} \sqrt{1 - \frac{y^2}{x^2}} \Rightarrow u = \frac{y}{x} \Rightarrow y' = u + xu'$$

$$y' = u + \frac{1}{2} \sqrt{1 - u^2} \Rightarrow u + xu' = u + \frac{1}{2} \sqrt{1 - u^2}$$

$$x \frac{du}{dx} = \frac{1}{2} \sqrt{1 - u^2} \Rightarrow \int \frac{du}{\sqrt{1 - u^2}} = \int \frac{1}{2x} dx \Rightarrow \sin^{-1}(u) = \frac{x^2}{2} + c$$

$$\sin^{-1}\left(\frac{y}{x}\right) = \frac{x^2}{2} + c$$

(2) Solve the (I.V.P): $(\cos 2y - \sin x)dx - 2 \tan x \sin 2y dy = 0, y(0) = 0$

$$M_y = -2 \sin 2y, N_x = -2 \sin 2y \sec^2 x \therefore \text{Not exact}$$

$$R = \frac{M_y - N_x}{N} = \frac{-2 \sin 2y + 2 \sin 2y \sec^2 x}{-2 \tan x \sin 2y} = \frac{-\tan^2 x}{\tan x} = -\tan x$$

$$F(x) = e^{\int -\tan x dx} = e^{-\ln \cos x} = \cos x$$

$$(\cos 2y \cos x - \sin x \cos x) dx - 2 \sin x \sin 2y dy = 0$$

$$M_y = -2 \sin 2y \cos x$$

$$N_x = -2 \sin 2y \cos x \text{ — exact}$$

$$U_x = \cos 2y \cos x - \sin x \cos x \Rightarrow U_x = \cos 2y \cos x - \frac{1}{2} \sin 2x + g'(y)$$

$$U = \cos 2y \sin x - \frac{\cos 2x}{2} + g(y)$$

$$U_y = N$$

$$-2 \sin 2y \sin x + g'(y) = ?$$

$$U_y = -2 \sin 2y \sin x + g'(y)$$

variation of parameter.

(3) Find the general solution of: $y'' + 2y' + 2xy = (2x - 1)y + e^{-x} \ln x$.

$$y'' + 2y' = (2x - 1)y - 2xy + e^{-x} \ln x$$

$$y'' + 2y' + y = 2xy - 2xy + e^{-x} \ln x$$

$$r^2 + 2r + 1 = 0$$

$$D = 0$$

$$P = \frac{\sqrt{101}}{2a}$$

$$r = \frac{-b}{2a} = \frac{-2}{2} = -1$$

$$y_h = \underbrace{c_1 e^{-x}}_{y_1} + \underbrace{c_2 x e^{-x}}_{y_2}$$

تسعة الكسوف الكلي

(4) Let $y'' - y = 4 \sinh x + \frac{x}{\sec^2 x}$. Determine a suitable form for the particular solution y_p if the method of undetermined coefficients is to be used. y_p

$$r^2 - 1 = 0 \Rightarrow r^2 = 1 \Rightarrow r = \pm 1$$

$$y = y_h + y_p \Rightarrow y_h = c_1 e^x + c_2 e^{-x}$$

$$\cos^2 x = \frac{\cos 2x + 1}{2}$$

$$y_p: y'' - y = 4 \sinh x + \frac{x}{\sec^2 x} = 2e^x - 2e^{-x} + x \cos^2 x$$

$$y_p = A e^x - B e^{-x}$$

$$y_p = \frac{1}{2} x \cos 2x + \frac{x}{2}$$

تسعة الكسوف الكلي

تسعة الكسوف الكلي

(5) Find the general solution of: $y'' + (y')^2 = 2y'e^{-2y}$.

$$y'' + y(y')^4 = 0$$

$$u = y', \quad u \frac{du}{dy} = y''$$

$$u \frac{du}{dy} + y u^4 = 0$$

$$u \frac{du}{dy} = -y u^3$$

$$\int \frac{du}{u^3} = \int -y dy$$

$$\frac{u^{-2}}{-2} = -\frac{y^2}{2} + c$$

$$\frac{1}{-2} (y')^2 = -\frac{y^2}{2} + K$$

$$2 = 2(y')^2 y^2$$

$$(y')^2 = \frac{1}{y^2}$$